
INSTALLATION MANUAL

32"~65" Ceiling Mount
Triple Screen TV Bracket

650371
Support

32"- 65"
Screen Size

Max Load Capacity

30kg/66lbs
Per Screen

VESA
100x100mm 600x400mm

compatible



   attempting to begin your installation.
who has a basic knowledge of bui dil ng construction,installations and fully

     understands these instructions.

    

omeone assist you to lift and position your equipment.
bolts firmly, but do not over tighten. Over tightening can damage the items and greatly reduce 

   their ability to hold. Please refer to suggested torque values where applicable in these instructions.

Dimensions

x3
680

86
0(

M
in

)~
32

55
(M

aX
)

630(Max)

40
0

50

200

19
0

3012
30

(M
in

)~
14

70
(M

ax
)

90°

5°
10°

15°

6Ā

690



Parts list

M5X15 M6X15 M8X15 6X   6.2X1.5

X4 X4 X4

A1 A2 A3 A4

X4

X3
6X   8.2X1.5 M6X8M5X8M8X12 4/5/6mm M8

X12X12 X1(Each) X6 X12

B1 B2 B3 B4 B5 B6

X12

X1

X2 X8 X1

M8X12

D1 D2 D3

X3

X1

X4 X3 X3

X3 X3 X1

X1

D4 D5 D6

D8

D7

D9 D10

X6

D11

X1

D12 D13

X6

X6X6

Lag bolt Anchor6X   8.2X1.5 3X   6.2X1.5M8X70 M8 M8x65 M6x85

X12X3 X10 X6 X6

C1 C2 C3 C4 C5 C6 C7
M6

X6

C8

X7

X1

1
2
3 4 5 6

7

8

1
2
3456

7

8

650371 (4,6,1,3,7,8)



Installation 

2-b Wood

C4
C2

Brick or concrete

C5

C4
C2

2-a

   6mm

1

B3

C1C2

B3

C3



3

D2

D1

D5

B3
   5mm

4

D10

6mm

5 On both sides
B3



6

   6mm

B3

This screw can
 not uninstall

C3 D12

C6

7
D3

B3

D2

8

   5mm



9

B3

D7

B5

D8
   4mm

10

111

   5mm B3

Telescopic adjustable out and in



13

D13

B4

B4

B4

   5 mm

14

Keep the fixed position in align center

B2

B1

B6

12



C3

   6 mm

15

C6

16
5 mm

C8

C7

17

1

2

3



18

A4

A1+A4/A2+A4/A3

20

19



21-a

21-b
5mm

22-a Tlit 0°

0 5

10

15



1

2

22-b

Tlit 5°

0 5

10
15

0 5

10
15



2

22-c
1Tlit 10°

0
5

10
15

0
5

10

15



22-d

1
Tlit 15°

0
5

10
15

0
5

10 15



23 Single screen
50

5°
10°
15°

6°



24

wire cable

Cable ties


